PITT Qube

YK-525-AAA-0

T
5 o
{@

3t
i
@4’1(9‘ "

Z?f @®
%;e@

®
(=) GT/
UL
(XN )>E)

EE®

Copyright(c) KOSHIN Ltd. All Rights Reserved.

2025/01/14 13:12:30



PITT Qube

YK-525-AAA-0

No. i LLE Mg - HE BRI Eff T
1 034824301 YK-25€E—4%—7 X 779—H | 0
2 034144201 YK-25 177" 7$(30UF-25V) JHCT084.01. |1 2,500
001-30UF-
250V

3 034144301 YK-25 107" /4)7-1-(ABS 15A1) JHCT056.01. |1 200
005

4 034144401 +F L’ vh 297 (S35C ST3.9%13) JHCT078.02. |1 200
011

5 034144501 YK #4by-I/(NBR ¢ 8* ¢ 22.2*T4.5) JHCT051.02. 2 400
004

6 034144601 'YK& C 2L H#E(SUS201 ¢ 8) GB894.1 8- |1 200
201

7 034144701 YK 779 MEES (SUS201 ¢ 8.2* ¢ 20*1) JHCT038.02. |1 200
005-201

8 034144801 YK xh=hbs-h( ¢ 8F) JHCT061.01. |1 1,100
001

9 034144901 YK 07" (NBR ¢ 52* ¢ 2.5) JHCTO051.01. |1 400
173

10 034143101 YK-25 58" 92 (FC200) JHCT025.18. |1 2,700
039

11 034145001 N *EE£(SUS201 M4F) GB93 4-201 |4 200

12 034145101 TFIUTFAT MY (SUS201 M4*12) GB818 4 200
M4x12-201

13 034145201 YK OY»%" (NBR ¢ 5.5* ¢ 2) JHCTO051.01. |1 200
048

14 034145301 INA TR MM C2800 M6*8) JHCT078.01. |1 200
024

15 034145401 YK OY75" (NBR ¢ 89* ¢ 5.2) JHCTO051.01. |1 400
010

16 034145501 YK-25 7°VaUsy” JHCT008.01. |1 700
004

17 034145601 +FRAIvE" V5497 (SUS201 ST4.2*32) GB845 12 200
ST4.2x32-F

18 034823701 YK-25 79N =93 JHBZ029.01. |1 4,800
135

19 034142901 YK-25 791 - (ABS) JHCT004.02. |1 0]
018

20 034145701 YKEHER(SUS201 ¢ 6) GB308 6 1 0

21 034145801 YKEREKYT-1- (SUS201 ¢ 3.6* ¢ 7*0.7) JHCT038.04. |1 0
032

22 034145901 +FIUFIvE" vhT 97 (SUS201 ST2.9*8.5 GB845 1 0
ST2.9x8.5

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1413:12:30




PITT Qube

YK-525-AAA-0

No. mE SREZ G - ME BRI EfM S

23 |034140301 |YK-25&iEd— R(VCT 3C*0.755Q*4M)  JHCT087.26. |1 5,800
002

24 |034146101 [BERENEWTET ($3%6.5) JHCTO041.01. |1 200
001

25 |034146201 [EREMEmTET (42.6'6.5) JHCT041.01. |2 200
003

26 |034146301 [@m/Av R JHCT085.01. |1 200
001

27  |034146401 |/NxEE£(S35C M4H) GB93 4 1 200

28 |034146501 |NEEW (T = E£(S35C M4F) S35CM4 |1 200

29  |034146601 |TFIR7A N3y (S35C M4*8) GB818 M4x8[1 200

30 |034147001 |+’ v5 37 (SUS201 ST3.512)  JHCT078.02. [1 200
021

31 |034147101 |YKOUY)" (EPDM ¢3.5*¢ 1.5) JHCTO051.01. |1 200
122

32 |034152501 |YKERFE BIFH#(SUS31666) 1.4) JHCT 1 200
SUS316¢ 6

33 |034823801 |YK-525 50HZ 1/A° 503 JHCT009.04. |1 2,200
198 (PAG6-
GF30)

33 |034147201 |YK-625 60HZ 1/A°5 JHCT009.04. |1 2,200
207 (PAG6-
GF30)

34 |034152401 |[FEE&(SUS30446.5% ¢ 18x1.4) JHCT 1 200
SUS304
6.5*18*1.4

35  |034147301 [HAvFyk (SUS201 M6) GB6182 M6- |1 200
201

36  |034147401 |YK-25 OYY5 (EPDM ¢ 140% ¢ 3) JHCT051.01. |1 300
016

37 |034140501 |YK-257-Y77" (ABS) JHCT005.01. |1 2,000
028

38 |034147602 |YK-25 Abb-7- (ABS) JHCT006.01. |1 1,400
004

39 034147701 |[+Z M99 Y5 %7 (SUS201 ST3.9°20)  JHCT078.02. |2 200
011-201

40  |034078101 |SM-25 197" U7 ABS 1 400

47 |034006501 [SM-25 197" Uvh" N* v&y CR 1 300

42 |034078201 [SM-25TTDF=v7" I ABS 1 300

43 |034078302 |SM-25 25x209%/31=97" I (ABS) JHCT027.05. |1 300
007

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1413:12:30




PITT Qube

YK-525-AAA-0

No. i SREZ G - ME BRI EfM
44 034078401 SM-25 25X15%45/3297° ABS 1 300
45 034148701 YT YN YR ¢ 32 (SUS201 ¢ 22-¢ 32) JHCT063.02. |1 400

011
46 034148801 I YN YN ¢ 22 (SUS201 ¢ 16- ¢ 25) JHCT063.02. |1 400
008
47 034142801 YK-525-AAA-0881R & N )L 54000722 1 200
47 034142701 YK-625-AAA-0£84R 5 RIL 54000724 |1 200
48 034141001 YK-252& SR 54000726 1 200
49 034147801 YK-25 POP3A™ 5400727 1 300
00 039038301 SREIN 374V 1Y 1 500|{# A& 14cc
T00CCA
00 034141202 YK-258%E% 0341412042 (1 0
Ay

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1413:12:30




